

$$T_{C,0}^{(A)} = 1 \quad \frac{19}{84} H^{(A)} = -0,57$$

$$T_{C,0}^{(B)} = -1 \quad \frac{19}{84} H^{(B)} = -0,4318$$

$$M_{C,0} = A_0 \cdot x_c + M_{(P)}$$

$$\begin{aligned} M_{C,0} &= M_{C,0} + H' \cdot (y_c + d) \cos \alpha_0 - S_c \cdot d \cdot \cos \alpha_c \\ &= M_{C,0} + H(y_c + d) - \frac{H}{\cos \alpha_c} \cdot d \cdot \cos \alpha_c \\ &= M_{C,0} + H y_c + H d - H d \end{aligned}$$

$$M_c = M_{C,0} + H y_c = M_{C,0} + \frac{54}{7} H \quad y_c = 9 - 12 \cdot \tan \alpha_0 = \frac{54}{7}$$

$$M_{C,0}^{(A)} = x_c = 12 \quad \frac{54}{7} H^{(A)} = -13,63$$

$$M_{C,0}^{(B)} = x_c' = 30 \quad \frac{54}{7} H^{(B)} = -14,72$$

